

KEHINDE OLUWATOBI
CIVIL ENGINEERING
16/ENUG03/035

Assignment 2 ENUG 381

1) $y = e^{ax^2 + x}$

2) $y' = (2ax + 1)e^{ax^2 + x}$
where $u = 2ax + 1$ $u' = 2ax^2 + x$

3) $\frac{dy}{dx} = (2ax + 1)e^{ax^2 + x}$

4) $y'' = u \frac{dy}{dx} + \frac{du}{dx}$

5) $y'' = (2ax + 1)(2ax + 1)e^{ax^2 + x} + e^{ax^2 + x}$

6) $y'' = y'(2ax + 1) + 2y$

From Leibnitz Theorem

7) $y'' = y'(2ax + 1) - 2y = 0$

8) $w_1 = y''$ $n' = 1$

9) $u = y''$ $n' = 0$

10) $w_2 = y'(2ax + 1)$

11) $u = y'$

12) $u^n = y^{n+1}$

13) $n'' = 0$

14) $= u^n \frac{dy}{dx} + n u^{n-1} \frac{du}{dx}$

15) $w_3 = 2y$

16) $u = y$

17) $u^n = y^n$

18) $w_3^n = n^n C_0 u^{n-1} = 2y$

NOTES

$n = 2, n' = 0$

$n = 0$

$$y^n - y'(2x+1) - 2y = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2ny^n - 2y^n = 0$$

$$y^{n+2} - y^{n+1}(2x+1) - 2y^n(n+1) = 0$$

$$y^{n+2} - y^{n+1}(2x+1) + 2y^n(n+1)$$

2i) $y = x^3 e^{4x}$

$$v^0 = x^3, v^1 = 3x^2, v^2 = 6x, v^3 = 6$$

$$u = e^{4x}, u' = 4e^{4x}, u'' = 16e^{4x}, u''' = 64e^{4x}$$

$$y^n = \sum_{r=0}^n \binom{n}{r} v^r u^{n-r}$$

$$= v^n v' + n v^{n-1} v'' + \frac{n(n-1)}{2!} v^{n-2} v''' + \frac{n(n-1)(n-2)}{3!} v^{n-3} v^{(4)}$$

$$= 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + \frac{n(n-1)}{2!} 4^{n-2} e^{4x} 6x + \frac{n(n-1)(n-2)}{3!} 4^{n-3} e^{4x} 6$$

$$y^3 = 4^{5-3} e^{4x} [64x^3 + (5 \times 4 \times 3)x^2 + 12 \times 5(5-1)x + 5(5-1)(5-2)]$$

$$= 16e^{4x} [64x^3 + 240x^2 + 240x + 60]$$

264-101

SUNDAY

9

ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

$$v = x^2, v' = 2x, v'' = 2$$

$$v''' = 0$$

$$u^0 = u = y''$$

$$u^1 = y'''$$

$$u^2 = y^{(4)}$$

$$w_2 = xy'$$

$$u^0 - u = y'$$

$$u' = y'' \quad u'' = y'''$$

$$u^{(n)} = y^{(n+1)}$$

$$w_3 = y$$

$$u = y$$

$$u' = y', \quad u'' = y''$$

$$u^{(n)} = y^{(n)}$$

$$v = xc, \quad v' = c, \quad v'' = 0$$

$$v = c, \quad v' = 0$$

$$w_1^{(n)} = c_0 u^{(n-1)} v + c_1 u^{(n-2)} v' + c_2 u^{(n-3)} v''$$

$$= u^{(n)} v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v''$$

$$y^{(n+2)} v + n y^{(n+1)} v' + \frac{n(n-1)}{2!} y^{(n)} v''$$

$$y^{(n+2)} v + n y^{(n+1)} v' + \frac{n(n-1)}{2!} y^{(n)} v''$$

$$y^{(n)} [y^2 x^2 + n y^2 x + \frac{n(n-1)}{2!} y^2]$$

$$w_2^{(n)} = c_0 u^{(n-1)} v' + c_1 u^{(n-2)} v'' + c_2 u^{(n-3)} v'''$$

$$= u^{(n)} v' + n u^{(n-1)} v'' + \frac{n(n-1)}{2!} u^{(n-2)} v'''$$

$$y^{(n+1)} \cdot x + n y^{(n)} \cdot 1 + 0$$

$$= y^{(n)} (xy + n)$$

$$xc y'' + xcy' + y = 0$$

$$w_1 + w_2 + w_3 = 0$$

$$y^{(n)} [y^2 x^2 + n y^2 x + n(n-1) y^2 + y^n (2xy + n) + y^n] = 0$$

At $xc = 0$

$$y^{(n)} n(n-1) y^n + y^n = 0$$

$$u(1-u) + R + 1 = 0$$

$$u^2 R - (1-u)u - R$$

$$1 = u + R$$

$$R - 0 = R$$

$$R = R$$

$$x^2 + 2x + 2 + u^2 R - (1-u)u - R = 0$$

11

1